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Question 5 .

Simplify the following expression
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Question 6 .

Simplify the following expression
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Simplify the following expression
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Question 8 .

Simplify the following expression
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Question 9.

Simplify the following expression
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Question 10 .

Simplify the following expression
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Question 1.

Simplify the following expression
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Question 12..

Simplify the following expression
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Question 13 .

Simplify the following expression
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Simplify the following expression
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Question 16 .

Simplify the following expression
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Question 15 .

Which equation correctly shows that (4)° = 12
A (59 = 30% = o4 4 ot 4 % = g12
B. («%°= (eH)(=¥)(s¥) = v -0 -v-c-2 7.0 -z -s-0-T-0 = ol2
c. (%) = 3@2) = 120 = 212
D. (%) = (24)(28) = =12
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Question 17 .

Simplify the following expression
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Simplify the following expression
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Question 19 .

Simplify the following expression
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Question 20 .

Simplify the following expression
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Question 21 .

Simplify the following expression
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Simplify the following expression
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Question 2.

Simplify the following expression
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Question 3.

Simplify the following expression
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Question 4 .

Simplify the following expression
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